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 gyMZm :gyMZm :gyMZm :gyMZm :      1.  gd© àíZ gmoS>{dUo Amdí`H$ Amho. 
2. COdrH$S>rb A§H$ Ë¶m àíZm§Mo JwU Xe©{dVmV. 
3. CÎman{ÌHo$V àýn{ÌHo$Vrb àýH«$_m§H$ {b{hUo Amdí`H$ Amho. 

 

à.1 `mo½` n`m©̀  {ZdSy>Z Jmiboë`m OmJm ^am. (10) 

 1) H$m°ÝñQ>°pÝQ>ZmonbÀ¶m nmS>mdmMm WoQ> n[aUm‘ H$moUVm ?   
 A) Y‘©gwYmaUm ~) ^m¡Jmo{bH$ emoY  
 H$>) Am¡Úmo{JH$ H«$m§Vr S>) à~moYZ  
 2) A‘o[aH$Z I§S>mMm emoY H$moUr bmdbm ?   
 A) dmñH$mo-X-Jm‘m  ~) ‘°JobZ  
 H$>) H$mob§~g S>) S>m¶P  
 3) Am¡Úmo{JH$ H«$m§VrMr gwédmV Imbrbn¡H$s H$moUË¶m Xoem_Ü ò Pmbr.  
 A) B§½b§S> ~) \«$mÝg  
 H$>) A_o[aH$m S>) ^maV  
 4) gÎmm{d^mOZmMm {gÜXm§V gd©àW‘ H$moUË¶m XoemZo ñdrH$mabm ?   
 A) B§½b§S> ~) \«$mÝg  
 H$>) A_o[aH$m S>) a{e¶m  
 5) Q>o{Zg H$moQ>© enW hr KQ>Zm H$emer g§~§{YV Amho ?   
 A) A‘o[aH$Z amÁ¶H«$m§Vr ~) ’«|$M H«$m§Vr  
 H$>) Am¡Úmo{JH$ H«$m§Vr S>) a{e¶Z H«$m§Vr  
 6) [agm{O©‘|Q>mo hr KQ>Zm H$emer g§~§{YV Amho?   
 A) à~moYZ  ~) BQ>brMo EH$sH$aU  
 H$>) O‘©ZrMo EH$sH$aU S>) a{e¶Z H«$m§Vr  
 7) O‘©ZrÀ¶m EH$sH$aUm‘Ü¶o H$moUVo ¶wÜX {ZUm©¶H$ R>abo?   
 A) S>oÝ‘mH© - Am°pñQ´>¶m/à{e¶m ¶wÜX ~) ’«$mÝg-à{e¶m ¶wÜX  
 H$>) Am°pñQ́>¶m-à{e¶m ¶wÜX S>) Am°pñQ́>¶m-O‘©Zr ¶wÜX  
 8) {~ñ‘mH©$ hm H$moUË¶m XoemMm _w»`_§Ìr hmoVm?   
 A) Am°pñQ´>`m ~) ~ìho[a¶m  
 H$>) a{e`m S>) à{e`m  
 9) AmYw{ZH$ gm‘«mÁ¶dmXmMr à‘wI àoaUm H$moUVr hmoVr?   
 A) Y‘©àgma ~) ì¶{º$JV ‘hÎdmH$m§jm  
 H$>) Am{W©H$ àoaUm S>) amOH$s¶ àoaUm  
 10) MrZ‘Ü¶o ‘wº$Ûma YmoaUmMm nwañH$ma H$moUr Ho$bm?   
 A) OnmZ ~) B§½b§S>  
 H$>) a{e¶m$ S>) A‘o[aH$m  
   

D 
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à.2 nwT>rb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUVohr VrZ) (30) 

1) à~moYZH$mimV {dkmZmÀ`m joÌm_Ü ò bmJboë`m emoYm§Mm AmT>mdm ¿`m.     

2) Am¡Úmo{JH$ H«m§VrÀ`m H$moUË`mhr Mma n[aUm_m§Mo dU©Z H$am.      

 3) \«|$M  H«$m§VrMr gm_m{OH$ d Am{W©H$ H$maUo H$moUVr?      

4) BQ>brÀ`m EH$sH$aUmVrb {d{dY Q>ßß`m§Mo WmoS>Š`mV dU©Z H$am.  

5) AmYw{ZH$ gm_«mÁ`dmXmÀ`m n[aUm_m§Mo WmoS>Š`mV dU©Z H$am.   

 
à.3 nwT>rb àíZm§Mr WmoS>Š`mV CÎmao {bhm. (H$moUVohr XmoZ) (10) 

1) _Ü` ẁJrZ ẁamonmVrb ga§Om_emhrMo dU©Z H$am.   

2) \«|$M H«$m§VrÀ`m H$moUË`mhr VroZ n[aUm_m§Mo dU©Z H$am.    

 3) _°{PZrMm WmoS>Š`mV n[aM` Úm.       

4) AmYw{ZH$ gm_«mÁ`dmXmMo H$moUVohr Mma {deof ñnï> H$am.  

 
à.4 {Q>nm {bhm. (H$moUË`mhr XmoZ) (10) 

1) ẁamonmVrb Y_©_wYmaUm        

2) A_o[aH$Z ñdmV§Í` ẁÜXmMo n[aUm_   

3) O_©ZrÀ`m EH$sH$aUmMo ZoVo         

4) MrZ_Yrb gm_«mÁ`dmX  

 

Translation in English 

Sub: History of Modern World (Renaissance to 1871) (HC - 101) 

 Instructions:   
1) All Questions are Compulsory. 
2) Figures to the right indicate full marks. 
3) In the case of any doubt the Marathi version shall be held to be authentic and final. 
4) While writing answers the respective question numbers must be mentioned in the 

Answer Book. 
 

 

Q.1. Fill in the blanks with the correct option. (10) 
 1) Which of the following was the direct consequence of Fall of Constantinople?  
 a) Reformation b) Geographical Discoveries  
 c) Industrial Revolution d) Renaissance  
 2) Who discovered American continent?  
 a) Vasco-de-Gama b) Magellan  
 c) Columbus d) Diaz  
 3) Industrial Revolution started in --------------------.  
 a) England b) France  
 c) America d) India  
 4) Which of the following countries implemented the theory of ‘Division of Power ?  
 a) England b) France  
 c) America d) Russia  
 5) Tennis Court Oath is related to -------   
 a) American Revolution b) French Revolution  
 c) Industrial Revolution d) Russian Revolution 
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 6)  Risorgimento is related to --------------------.                            
 a) Renaissance b) Unification of Italy  
 c) Unification of Germany d) Russian Revolution  
 7) Which war gave final effect to the unification of Germany?   
 a) Denmark-Austria/Prussia War b) Franco-Prussian War  
 c) Austro-Prussian War d) Austro-German War  
 8) Bismarck was chancellor of -------- .  
 a) Austria b) Baveria  
 c) Russia d) Prussia  
 9) Which was the main driving force behind modern imperialism?  
 a) Spread of Christianity b) Personal ambition  
 c) Economic gain d) Political strength  
 10) Which of the following nations advocated ‘Open Door Policy’ in China?  
 a) Japan b) England  
 c) Russia d) America  
   

Q.2. Answer the following questions in detail. (Any Three) (30) 
1) Take a review of scientific discoveries during the Renaissance period.  

2) Describe any four consequences of the Industrial Revolution. 
 3) What were the social and economic causes of the French Revolution?  

4) Describe in brief the various stages of the Unification of Italy. 
5) Describe in brief the consequences of modern imperialism. 
 

Q.3. Answer the following questions in brief. (Any Two) (10) 
1) Describe the feudal system in medieval Europe. 
2)  Describe any 3 consequences of French Revolution. 

 3)  Give brief introduction of Mazzini.  

4) Explain any 4 of features of Modern Imperialism. 
 

Q.3. Write short notes. (Any Two) (10) 
1)  Reformation 
2) Consequences of the American War of Independence 
3) Leaders of Unification of Germany 
4) Imperialism in China 
 

 

 
____________________ 

   


